Adding/Subtracting Decimals (B)

52.52+11.8 =

96.5 + 5.53 =

3.4 —-272 =

11.82 — 5.54 =

82.4 4 5.87 =

76.5 — 5.33 =

73.1 4+ 56.35 =

87.4+9.83 =

40.7 4 2.96 =

7192+ 778 =

Calculate each sum or difference.

92.7—-6.9 =

40.90 4+ 7.70 =

26.62 + 26.56 =

21.3+4.6 =

89.6 +4.65 =

823 +17.7 =

13.6 = 7.32 =

284 +6.98 =

68.12 — 9.3 =

69.63 — 4.7 =
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Adding/Subtracting Decimals (B) Answers

Calculate each sum or difference.

52.52 4+ 11.8 = 64.32 92.7-6.9 =858
96.5 4+ 5.53 = 102.03 40.90 + 7.70 = 48.6
34—-22=12 26.62 + 26.56 = 53.18
11.82 —5.54 = 6.28 21.344.6 =259
82.4 + 5.87 = 88.27 89.6 + 4.65 = 94.25
76.5 —5.33 =T71.17 82.3 4+ 17.7 =100
73.1 +56.35 = 129.45 13.6 — 7.32 =6.28
87.4+9.83 =97.23 28.446.98 = 35.38
40.7 +2.96 = 43.66 68.12 — 9.3 = 58.82
79.2+77.8 =157 69.63 — 4.7 = 64.93
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